RExtEa DERE
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P124 Ot EHIZETILICL=RETETEH
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W NP
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NN
~

[ep]
N

=
o

2.10.1
2.10.1

© 00 N o O b WODN P w N

e el
w N P O

30
30
30
31
31
31
33
35
36
37
37
38
41
42
45
46
46
46
46
46
47
47
47
47
48
48
49
50
51
52
52
53
54
54
55
56
57
57
58
59
59
60
61
61
61
62
62
63
63
63




1.2

Sample2( Typel+ + H14) .F8K
8.00
2.00 2.00 2.00 2.00
2.000 2.000 2.000 2.000
T 1 1 1 I I I
—T L L £
ols}
o
0
™
3
<
8
b
3
™
B
Lsr]
— - - 8 — — —
N
T LT T T T
7.000 450 250 1.000 450 350

FORUMS8




1.3

0.200
0.200
0.200

1.4

0.200
0.200

/ 300.000

3.000 (cm)

/1

0.000 (kN/ )

0.300 (cm)
100.000 (N/mm?)

1.000 (cm)
100.000 (N/mm?)

AL 0.010 (m)

FORUMS8




1.5

1.6

1.7

(m)
1 2.000
2 2.000
3 2.000
4 2.000

(m)

1 2
2 2
3 2
4 2

(m)
1 4.500
2 2.500

1000x 2000 | 1000x 3000 | 1000x 2000 | 1000x 3000
x x x x
o o o o
o o o o
o o o o
o o o o
o o o o
o o o o
X
o o
X x
X x
X x
o o
x x
o o
-- m 4.500
-- m 3.500

FORUMS8




- m 8.000
- m 0.500
LL m 1.000
LR m 1.000
1.8
h (m)
1 3.500
2 4.000
3 3.000
4 3.500
hL m 2.000
G.L. -- m 0.000
1. 9
hb m 0.700
Bb m 1.500
Lb m 1.500
y c kN/m? 23.0
c KN/m? 30.00
) ° 30.0
y 1 kN/m® 18.00
y 2 kN/m? 20.00
Df m 2.000
Df*" m 2.000
cB KN/m? 30.00
tang B -——- 0.60
ga kN/m? 400.00

FORUMS8




1.10
o ck N/mm? 24
D mm 32
La mm 470
n 6
a mm 400
T oa N/mm? 1.40
T aa N/mm? 90.00
t mm 30
Bp mm 480
Lp mm 480
o bab N/mm? 140.00
T ba N/mm? 80.00
1.11
n
0.40 0.40
n
0.25 0.20
0.25 0.20
0.25 0.20
[
0.40 0.40
0.40 0.40

FORUMS8




1.12

m 1000x 2000

200(mm)

1)
2)Aw 8.10 (cm?)
3)Z 312.0 (cm®)
m 1000x 3000
1)
2)Aw 8.10 (cm?)
3)Z 312.0 (cm®)
H
1.13
1)
2)Aw 54.00 (cm?)
3)Z 2720.0 (cm®)
4) 1880.0 (N/m)
5) 2.0 (m)
6) ( )
1.14
1.16 ( )
P1
|
[ ] [ ][
€L L 1L
1) 0.000 (m)
2) 0.000 (m)
3) 0.000 (kN/m)
4) 0.000 (kN/m)
1.17
1) 1000 x 2000 1.840 (KN/m2)
1000 x 3000 1.840 (kN/m?)
1.840 (KN/m?)
2) 0.100 (kN/m2)
3) 0.100
1.18

FORUMS8




Skl
=275

o0 =ll=

ERES T £ 757 [ EL 4 I
0 @ ® @ 5
1)
2) TT43
3) 1.75 (m)
4) 4
5) (m
1- 2 3.250
2- 3 7.800
3- 4 1.550
6) C ) &N
1 30.000
2 65.000
3 60.000
4 60.000
|
1)
2)
P1 T20
P2 T20
P3  T20
1.19
|
1)
2) 2 ()
1.20
L R
[ ] [ ] ]
T T T T
1)
2) () 0.000 (m)
3) ( ) 0.000 (m)

FORUMS8



1.21
1 D408S
(+ + )
EhE A ﬁfmg C g
2) 480.000 (kN)
3) 50.000 (kN)
) A 4.470 (m)
5) B 4.000 (m)
6) c 0.800 ()
0] 0.800
8) 0.600
9) 0.700
10) 0.900
1.22
L
[ ] [ ] [ ]
T T T T
1)
2) () 0.000 (m)
3) () 0.000 (m)
4)
1.23
4~
1~2 2~3 3~4 5~6 _
A = -5 a0 A L =
BRES @ @ ) © B A7 R R
1) NK 300
2) 2.10 (m)
3) 3
4) (m

FORUMS8



1- 2 3.850
2- 3 1.350
5) « ) &N
1 32.000
2 64.000
3 64.000
|
d A
<\;§g; 75—
(EAHRE)
Y (W+T)$ :x (W+T)
&vwnr— N\
el GEFT A )
1) W 320.000 (kN)
2) T 30.000 (kN)
3) C ) 4.750 (m)
4) « ) 5.600 (m)
5) a 0.700
6) B 0.150
7) y 0.150
8) 0.500 (m)
1.24
L R
J\ /L
( ] [ ] [ ]
T T T
1)
2) ) 0.000 (m)
3) ) 0.000 (m)
4)
1.25

FORUMS8



- 10 -

1.26
SS400
(N/mm?) (N/mm?) (N/mm?) (N/mm?)
( I - -
¢ ) o “* - o
(cm) (cm)
0 - 0.00 -
( JH 0 — 0.00 —
( ) 0 — 0.00 —
—_— 0 —_— 0.00
1.27
1.28
1 ( 14 )
2) i
3)
4) 0.000(m)
5)
8.000(m)
1.000(m)
1.000(m)
4.500(m)
14.000(m)
2.000(m)
4.500(m)
4.000(m)
6)
1.29
1)
e Bb fa
1 6.0 1.20 2.0

FORUMS8



- 11 -

2)

a=[1.0]+[0.3]><(B—e)
De

Be

3=[1.o]—[o.4]x(%)

Be\”
)" =|—
Bo
A co [V Bo
-0.333 10.0 -0.333 1.0
r [1.0]

FORUMS8



- 12 -

2.1

2.1.1

2.1.2

1000x 2000(2.0m)
(N/mm?)

17.161

26.454

50.110

66.673

29.827

46.244

50.338

70.037

43.718

47.410

165.545

165.545

240.000

D

2)

3)

Md =w x 1%/ 8 =

2 (1000x 2000)

1.000 (kN.m)

+ )x (

2.000 (kN/m)
2.000 (m)

FORUMS8




- 13 -

4) « )
0.750 0.500 0.750
588.000kN/m
| |
AN 7y
2.000

Mmax = 128.625 (KkN.m)

w I
W, = 588.000 (kN/m)

5) ( ) H1
2 1000 x 2000
> M= Mmax x 0.400 + Md x 20/100 = 51.650 (kN.m)

6)
6 =3M/Z= 165.545 (N/mn?)

VA = 312.000 (cm®)

FORUMS8



- 14 -

2.1.3

2.1.4

1000x 2000(2.

(N/mm?)

om)

13.

221

20.

379

38.

603

55.

437

22.

978

35.

625

38.

779

57.

434

33.

679

46.

953

127.

531

127.

531

135.

000

D

2)

3)

Sd =w x

1/72-=

2 (1000x 2000)

2.000 (kN)

)x (

2.000 (kN/m)
2.000 (m)

FORUMS8




- 15 -

4)

5)

6)

0.500 1.500

588.000kN/m

2.000

Smax = 257.250 (kN)

w I
W, = 588.000 (kN/m)

( ) H 1
2 1000 x 2000

> S =Smax x 0.400 + Sd x 20/100 =

T =3S /A= 127.531 (N\/mn?)

A = 8.100 (cm?)

103.300 (kN)

FORUMS8




- 16 -

2.1
2.1.1
(kN.m)
G 2 206.475
G 2 193.859
— G 2 293.774
— G 2 308.438
— G 2 344.226
— G 2 344226
2.1.2
1)
2) 2
3)
2
2.000 x  2.000 / 2.000 =  2.000
2.000 x  2.000 / 2.000 =  2.000
= 1.324
wd = 5.324 (kN/m)

H-350x350x12x19

Md =wd x I/ 8 + Mo = 5.324 x 4.500%/ 8 + 0.000 = 13.476(kN.m)

FORUMS8




- 17 -

2
8.000
2.000 4750 ~1.250
245.000kN
52.500kN
lai a2 la3 Jaa les
2.000 2.000 2.000 2.000
(W+T) x 0.700 = 245.000 (kN)
W+T)x 0.150 = 52.500 (kN)
= 245.000 (kN)
8.000
2.000 4750 1,250
52.500kN
0.000kN
lat la2 la3 Jaa les
2.000 2.000 2.000 2.000
W+T)x 0.150 = 52.500 (kN)
= 0.000 (kN)
= 52.500 (kN)

320.000 (kN)
30.000 (kN)

2

245.000 (KN)
52.500 (kN)

FORUMS8




- 18 -

4.500

2.250 2.250

245.000kN

Mmax = 275.625 (kN.m)

Imax : Mmax = 2.250 (m)

275.625 x 0.200

13.476(kN.m)
275.625(KN.m)
55.125(kN.m)

344..226(kN.m)

FORUMS8



- 19 -

2.1.3
(kN)
G 2 235.979
G 2 205.679
— G 2 284.572
— G 2 293.256
— G 2 305.979
— G 2 305.979
2.1.4
1)
2) 2
3)
2
2.000 x  2.000 / 2.000 =  2.000
2.000 x  2.000 / 2.000 =  2.000
= 1.324
wd = 5.324 (kN/m)

H-350x350x12x19

Sd=wdx I /2+S0= 5.324 x 4.500 / 2 + 0.000 = 11.979(kN)

FORUMS8




- 20 -

2
8.000
2.000 4750 ~1.250
245.000kN
52.500kN
lai a2 la3 Jaa les
2.000 2.000 2.000 2.000
(W+T) x 0.700 = 245.000 (kN)
W+T)x 0.150 = 52.500 (kN)
= 245.000 (kN)
8.000
2.000 4750 1,250
52.500kN
0.000kN
lat la2 la3 Jaa les
2.000 2.000 2.000 2.000
W+T)x 0.150 = 52.500 (kN)
= 0.000 (kN)
= 52.500 (kN)

320.000 (kN)
30.000 (kN)

2

245.000 (KN)
52.500 (kN)

FORUMS8




- 21 -

4.500
4.500
245.000kN
| |
A A
Smax = 245.000 (kN)
= 11.979(kN)
= 245.000(kN)
245.000 x 0.200 = 49.000(kN)

305.979(kN)

FORUMS8



- 22 -

2.1.5
SS400
H-350x350x12x19
2
ft = 195.000 (N/mm2)
fb = 195.000 (N/mm?)
1) fb =195 x {1-0.4x ((Ib/120i)* c)} = 183.221 (N/mm?)
2) fb=1.11 x 10° x Af /(Ib x h) = 468.667 (N/mm?)
Ib : = 450.000 (cm)
i: 2 = 9.650 (cm)
: = 1.0
h : = 35.000 (cm)
Af : = 66.500 (cm?)
ft : = 195.000 (N/mm2)
fs = 110.000 (N/mm?®)
2.1.6
H-350x350x12x19
c = M/Z =150.976 (N/mm?) 195.000 (N/mm?)
M : = 344.226 (kN.m)
Z - = 2280.000 (cm®)
T = S/ Av = 81.725 (N/mm?) 110.000 (N/mm?)
S = 305.979 (kN)
Aw : = 37.440 (cm?)
2.1.7
SMmax1*
5 = 488; X (L0+H) =  0.876 (em) =  1.500 (cm)
Mmax: = 275.625 (kN.m)
i = 0.200
| = 450.000 (cm)
I 2 = 39800.000 (cm)
E = 2.0x 10°(N/mm*)

FORUMS8



- 23 -

2.2
2.2.1

2.2.2

(kN.m)

358.702

269.199

379.924

398.470

360.309

360.309

D
2)
3)

(

H-350x350x12x19)

2.000 x (1 + Iside) / 2.0
1.324 x (I + Iside) x n/(2IH)

8.000 (kN/m)
2.354 (kN/m)
1.324 (kN/m)

Iside :

IH :

P1

P2

11 =
0.000 x

12 =
0.000 x

wd
0.000 (m)

(1 + 1Iside) /2.0
0.000 (m)

(1 + 1Iside) /2.0

4.500 (m)
3.500 (m)
2.000 ( )
4.500 (m)

11.678 (kN/m)

0.000 (kN)

0.000 (kN)

FORUMS8




- 24 -

Md = wd x IHY/ 8.0
+PLx (MH-11)/1MHx I1
+P2x (MH-12)/71MHx 12 + Mo = 29.559 (KN.m)

Mo : = 0.000 (KN.m)

FORUMS8



- 25 -

4)

Rcl
Rc2

Mj

8.000
1.483 4.023 2.494
I I
4.500 3.500
374.909 (kN/m)
160.675 (kN/m)
wl :
wli=MW+T)x 0.700 7/ (0.900 x Ib x C x 1/2)
w2 :
w2 =MW+ T) x 0.300 7/ (0.900 x Ib x Cx 1/2)
W = 480.000 (kN)
T : = 50.000 (kN)
Ib : = 4.470 (m)
C: = 0.000 (m)
( )
4.500
1.850 0.800 1.850
“‘ TWWTOQKN/m
A A
= 307.425 (kN.m)
Imax : Mmax = 2.250 (m)

230.549 (kN/m?)

98.807 (kN/m2)

FORUMS8



- 26 -

5)

307.425 x 0.200

29.559 (KN.m)
307.425 (KN.m)
61.485 (KN.m)

398.470 (kN.m)

FORUMS8




- 27 -

2.2.3

2.2.4

(kN)
- 2 343.227
- 2 284.542
— - 2 360.385
— - 2 385.045
— - 2 320.275
— - 2 320.275
D
2) -2
3)
( H-350x350x12x19)

2.000 x (I + Iside) /7 2.0
1.324 x (1 + Iside) x n/(2IH)

8.000 (kN/m)
2.354 (kN/m)
1.324 (KN/m)

Il = 0.000 (m)
P1 = 0.000 x (I + Iside) / 2.
12 = 0.000 (m)
P2 = 0.000 x (I + |Iside) / 2.
I : = 4.500 (m)
Iside : = 3.500 (m)
n: = 2.000 ( )
H : = 4.500 (m)

wd

0

0

11.678 (kN/m)

0.000 (kN)

0.000 (kN)

FORUMS8




- 28 -

R1

R2
Sd

Wd x

Wd x
R1

IH/20+ PlLx (IH-11)/H
+ P2x (IH-12)/1H

IH +P1L+P2 -R1

R2 + So

So :

0.000 (kN)

26.275 (kN)
26.275 (kN)
26.275 (kN)

FORUMS8




- 29 -

4)

5)

Rcl
Rc2

8.000
1.483 4.023 2.494
I
4.500 3.500

= 374.909 (KN/m)
= 160.675 (kN/m)
wl :
wi=@+T)x 0.700 / (0.900 x b x C x 1/2)
w2 :
w2 =W+ T) x 0.300 / (0.900 x lb x Cx 1/2)
W = 480.000 (kN)
T : = 50.000 (kN)
Ib : = 4.470 (m)
C: = 0.000 (m)
( )
4,500
0.500 . 0.800 2.400 0.800
‘ 374.909kN/m
| |
A A
Sj = 298.975 (kN)
= 26.275 (kN)
= 298.975 (kN)
298.975 x 0.200 = 59.795 (kN)

w
1

385.045 (kN)

230.549 (kN/m?)

98.807 (kN/m2)

FORUMS8



- 30 -

2.2.5
SS400
H-350x350x12x19
2
ft = 195.000 (N/mm2)
fb = 195.000 (N/mm?)
1) fb =19 x {1-0.4x ((Ib/120i)* ¢)} = 183.221 (N/mm?)
2) fb=1.11 x 10° x Af /(Ib x h) = 468.667 (N/mm?)
Ib : = 450.000 (cm)
i: 2 = 9.650 (cm)
: = 1.0
h : = 35.000 (cm)
Af : = 66.500 (cm?)
ft : = 195.000 (N/mm2)
fs = 110.000 (N/mm?®)
2.2.6
H-350x350x12x19
o = M/Z =174.767 (N/mn?) 195.000 (N/mm?)
M : = 398.470 (kN.m)
Z - = 2280.000 (cm®)
T = S/ Aw = 102.843 (N/mm?) 110.000 (N/mm?)
S = 385.045 (kN)
Aw : = 37.440 (cm?)
2.2.7
SMmax1*
5 = 488; X (L.0¥i) =  0.978 (em) =  1.500 (cm)
Mmax: = 307.425 (kN.m)
i = 0.200
| = 450.000 (cm)
I 2 = 39800.000 (cm)
E = 2.0x 10°(N/mm*)

FORUMS8



- 31 -

2.3
2.3.1

2.3.2

(kN)

1 881.947

1/1
1)
2) 1
IkL =  1.000 (m)
Ik =  4.500 (m)
3)
5.500 x (I + Iside) / 2.0 = 22.000 (kN)
2.0 x 1.324 x (1 + Iside) /7 2.0 = 10.592 (kN)
1.324 x 1h = 4.303 (kN)
0.297 x 1Isl = 2.005 (kN)
0.146 x 1s2 = 0.881 (kN)
0.146 x 1lv = 2.503 (kN)
0.000 x (1 + Iside ) /7 2.0 = 0.000 (kN)
0.912 x IKUI = 13.926 (kN)
= 0.000 (kN)
Nd = 56.210 (kN)
l: = 4.500 (m)
Iside : = 3.500 (m)
lh : = 3.250 (m)
Isl : = 6.750 (m)
Isl1 = (Ik2 / 2.0) x 3
Is2 : = 6.032 (m)
) N/(1k2)2 ( 1 )2 W/(m)z (1side)2
1s2 = — |t |+ — |+
2.0 2.0 2.0 2.0
lv : BMETL—AREX = 17.130 (m)
lv = X 1lvn
1vl = {1k2% 3.500%= 5.701 (m)
1v2 = {1k2% 4.000%= 6.021 (m)
1v3 = {1k2% 3.000%= 5. 408 (m)
IKUI: = 15.270 (m)

FORUMS8




- 32 -

4)

6)

NJ

w+ T

548.571 x

= 548.571 (kN)

0.200

56.210 (kN)
548.571 (kN)
109.714 (kN)
167.451 (kN)

1/1

Nx 1/1

881.947 (kN)
881.947 (kN)

548.571 (kN)

0.000 (kN)

167.451 (kN)

77.884 (KN)
15.050 (m)
7.000 (m)

FORUMS8




- 33 -

2.3.3

D

Hd = (W1 + W2 + W3 + W4 + W5 + W6 + W7) x kh
w1 :

w2 :

W3 :

w4

W5 :

W6 :

W7

kh :

WL = ( WFL x BfLl + WF2 x Bf2 )
x ( 1+ Iside) /2.0

WFL : 2m +
Bfl : 2m +
Wf2 : 3m +
Bf2 : 3m +
I :
Iside :
W2 = (WL + WR ) x
WL :
WR :

W3 =Nx Wx (I

N
WN :

W4 = WH x
WH :
IH :

w5

Wsl x
Wsl :
Isl :

W6 = Ws2 x
Ws2 :
Is2 :

W7 = Wv x
Wv
Iv

IH

Isl

Is2 7/ 2.0

Iv

kh = 0.200

(1 +1Iside) /2.0

+ Iside ) /7 2.0

24

64

w h~h O N 00N

o

26.

11.

.112 (kN)

.000 (kN)
.000 (kN/m2)
.000 (m)
.000 (kN/m2)
.000 (m)
.500 (m)
.500 (m)

.000 (kN)
.000 (kN/m)
.000 (kN/m)

480 (kN)

5(C)
.324 (kN/m)

916 (kN)
.324 (kN/m)

9.000 (m)

.237 (kN)
.297 (kN/m)
.000 (m)

.143 (kN)
.146 (KN/m)
.028 (m)

.782 (kN)
.146 (kN/m)
.107 (m)

FORUMS8




- 34 -

3)

kh :

kh

0.200

= 109.714 (kN)

= 548.571 (kN)

109.714 x 0.200

= 548.571 (kN)

24.112 (kN)
109.714 (kN)
21.943 (KN)

155.769 (KN)

0.000 (kN)

FORUMS8




- 35 -

2.3.4

M max

= Hx (hn-1+hn)

hn-1 :

25.961 (kN)

77.884 (KN)
3(C)

= 124.615 (kN.m)

= 4.800 (m)

FORUMS8




- 36 -

2.3.5

cc/fc + ob/fh =

ocC :
ob :
fc :

A
b :

H / Aw

Aw :

120
120

b
To

0.945 1.0

N/ZA
M7/ Z

fc=203x (1-04Q /1
fc = 81.3 / (A /120)°
Ik /iy =  455.000 / 7.550 =

195.000 N/mm?

195x { 1 - 0.4 ((1b/120x i)?/ c) }

1.11x 10°x Af / (lbx h)

H-300x300x10x15

9.615 138.564 (N/mm?)

25
27

74.489 (N/mm?*)
92.307 (N/mm?)
157.925 (N/mm?)
200%) /(1.5 + 2/3 x

60.265
195.000 (N/mm?)

185.
365.

539 (N/mm?)
934 (N/mm%)

= 881.947 (kN)
= 124.615 (kN.m)
= 455.000 (cm)
= 455.000 (cm)

= 118.400 (cm?)
1350.000 (cm®)
.550 (cm)
.230 (cm)
.000 (cm)
.000 (cm?

1] 1 1]
oo ~

2961 (KN)
.000 (cm?)

O 7/ 120)?)

FORUMS8



- 37 -

2.3.6
@
1)
hb m 0.700
Bb m 1.500
Lb m 1.500
y c kN/m? 23.0
2)
c KN/m? 30.00
) ° 30.0
y 1 KN/ 18.00
y 2 KN/ 20.00
Df m 2.000
Df" m 2.000
cB KN/m? 30.00
tang B -——- 0.60
ga KN/m? 400.00
3)
No kN 881.947
Ho kN 25.961
Mo kN.m 124.615
No
Ho
Mo
Mo Hox (hn hL hb)
25.961x (3.500 2.000 0.700) 124.615
hn (m)
hL (m)
4)
N kN 918.172
H kN 25.961
M kN.m 142.788

FORUMS8
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N
N No Nk
881.947 36.225 918.172
Nk (kN)
Nk Bbx Lbx hbx y ¢
1.500% 1.500% 0.700x 23.0 36.225
Bb (@m
Lb (m)
hb (m)
y C (KN/m*)
M
M Mo Ho hb
124615 25.961x 0.700 142.788
Ho
hb m
5)
e Bb fsa (kN/m?)
1 6.0 1.20 400.00 2.0
)
1)
M
e = N = ea (m
e (m
ea Bb 6.0(m)
Bb 1.500 (m)
(kN.m)
(kN)
MokNmy | N ) | & (M ea (m)
142.788 918.172 0.156 0.250 OK

FORUMS8
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3)

Hu Ne+tanpB + cB -« Ae
fs = = = fsa
H H
H (kN)
Hu (kN)
fs
fsa 1.20
tang B 0.60
cB 30.00(kN/m?)
Ae m) Bb 2e Lb
Lb 1.500 (m)
Hu
N cB Ae Hu fs
H (kN) (kN) tangp B (KN/i) ICH) (kN) fsa
25.961 918.172 | 0.600 30.00 1.783 604.407 23.28 1.20 0K
Sty
X =3+ — -e
2
1. 500
= 3-( ——0.156) =1.783 > Bb=1.500
X (m)
X Bb
N 6+M
= = kN/m*
e T, Bb Lb - BY aa (kl¥/u')
N 6-+M
in = — = kN/m*
e TS Ib - Bb’ aa (/)
gmin (kN/m?)
M (kN.m)
ga (kN/m?)
gmax gmin ga
X (m) (KN/m?) (kN/m?) (kN/m?)
1.783 661.922 154.231 400.000 NG

FORUMS8
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4)
Ra = — = N ()
n
Ru = Ae+ {ic* a *c+*Ne + iy « B +vyl+Be*n *Ny + igarq+*Nag } (kN)

Ru (kN)
n (2.00)
o 30.00 (kN/m*)

g y2 DF  40.00(kN/m?)
Ae Ae Be Le 1.783(m?»)
y 1 18.00(kN/m*)
y 2 20.00(kN/m?)
Be Be Bb 2 eB 1.189(m)
Bb 1.500 (m)
Le Le Lb 1.500 (m)
eB (m) M N
M (kN.m)

(kN)
a 1.0 0.2 B L B
B 0.5 0.2 B L B
Df 2.000 (m)
Df 2.000 (m)
Nc Ng Ny
® 30.0 C )
Ng :(H—s%nqs )emm:(I—G—S%nSO.O)emnSOU 18. 40
1—sin¢ 1—sin30.0

=(Ng—1)cot ¢ =(18.40—1)cot30.0 =30. 14
Ny =(Ng—1)tan(l.4¢) = (18.40—1) tan(1.4X30.0) =15.67

n
B\" /1.500) "%
n == =0. 874
) =[50
B (m)
Bo (m)
n
ic iy iq
) (%)
ic =iq =|1l——| =|1———| =0.964
90 90

0 MEOEMA C ), FTRIZTKD D,

H 25.961
tan ) =—=——=0.02837T, 2>, tanfh = pu =0.60 K o
an N o8 172 T D an u LORDD
9 2
iy=|1—— 1—— =0. 895
10} 30.0
() ° 6 ¢ iy O

FORUMS8
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®
D

2)

3)

4)

MgkN.my | €B(M | Be(m) pe(m) | a B HON) | ic,iq | iy
142.788 | 0.156 |  1.189 1.783 | 1.200 | 0.300 25.961 | 0.964 | 0.895
Ne Ng Nr Ru  (KN) Ra  (KN) N (kN)
30.14 18.40 15.67 3272.248 1636.124 |  918.172 | OK
MmN gy | & M ea (m)
142.788 | 918.172 |  0.156 0.250 oK
Hu
N cB Ae Hu fs
H (kN) (kN) tangp B (KN/?) ICH) (kN) fsa
25.961 | 918.172 | 0.600 |  30.00 1.783 |  604.407 | 23.28 | 1.20 oK
gmax gmin ga
X (m (kN/1) (kN/1) (KN/1)
1.783 661.922 |  154.231 |  400.000 | NG
Ne Ng Nr Ru  (KN) Ra (KN) N (kN)
30.14 18.40 15.67 3272.248 1636.124 |  918.172 | OK

FORUMS8
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©)

N/mm?)

Nomin Mo 56. 210 124. 615
T— _ _ = — — =-94. 477
n 7z X107 6 1200. 00X 10°°
T 1 (kN/
Nomin (kN)
Mo kN.m
z mm
a
nxX X —)2
2 6 X 200?
7= = =1200. 00
a 200
2
a (mm)
TX 10°
to=———=rto0a
w +*D-+Lla
TX10° —94. 477X 10°
T o= = =2.000
7 *D-Lla T X32X470
T oa
To0a T oa 1.400x 1.50 2.100
D (mm)
La
To 2.000 Tt oa 2.100 0K
Ho X 10°
T = DZ = T aa
- 7T n
4
Ho X 10° 25. 961 % 10°
T = = =5, 380
DZ 2
1 7T *°n T X 1t X6
Ho kN
T aa N/mm?
Taa T aa 90.000x 1.50 135.000
T 5.380 1 aa 135.000 0K

FORUMS8
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2)
M1 s1
ML S1
b 2
Mi=(2 - P1+P3) - Tp
(90X 109 °
= (2X 5956, 804+4146. 312) X — = 21. 681 (kN. m)
b
S1=(P1+P3) - 713
90X 10
= (5956, 804+4146. 312) X —y = 454. 640 (kN)
P1
P2
P3
bp
Bp—b  480—300
bp= = =90 (mm
p 5 5 (mm)
Bp (mm)
b (mm)
P1 P3
i) eo
Mo 124. 615
eo = = =0, 141
No 881,947
€0 (m
No (kN)
Mo (kN.m)
i)
B
X = 3 ( b eo )
2
480X 107°
= 3. ( — - 0,141 ) =0, 296
X (m)
iii) X Bp
2 - No 2% 881, 947
pPl1= = =5956. 804 (kN/m)
X 0. 296
Pl (x-bp) 5956, 804 X (0. 296—90 X 107)
p3= = =4146. 312 (kN/m)
x 0. 296

FORUMS8
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i)
M1 X 10°
o = = ogab
Z
M1 X 10° 21. 681 X 10°
o = = =401. 498
Z 54000. 000
o (N/mm?)
z (mm®)
bo « t? 360 « 30°
7 = 5 = =54000. 000
bo (mm)
bo L 2t 300 2x 30 360
L H ¢ (mm)
t (mm)
o ab (N/mm*)
cab oab 140.000x 1.50 210.000
o 401.498 o ab 210.000 NG
i)
S1x10°
T = = tab
bo * t
S1X10° 454, 640 X 10°
T = = =42. 096
bo * t 360 X 30
T ab N/mm?)
Tab 1 ab 80.00x 1.50 120.000
La
T 42.096 T ab 120.000 OK

FORUMS8
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3)
gc
oc 0Oba
gc N/mm?)
P1
oc=— =12.410(N/mm?) ,
Lp
o ba N/mm?)
Ac
o ba= (O. 254+0.05 « — ) - ock
Ab
2. 250
=10.25+0.05X X 24=24. 996
0. 142
Ac (m?)
Ac Bb Lb 1.500x 1.500 2.250
Ab (m*)
Ab x Lp 0.296x 480x 10° 0.142
X X Bp
o ba o ba 0.50 ck 12.000 N/mm?)
o ba 12.000x 1.50 18.000 N/mm?)
oc 12.410 o ba 18.000 0K
®)
TO0 Toa N/mm’ 2.000 2.100 OK
T T aa N/mm’ 5.380 135.000 0K
o o ab N/mm? 401.498 210.000 NG
T T ab N/mm’ 42.096 120.000 oK
gc o ba N/mm’ 12.410 18.000 0K

FORUMS8
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2.4
2.4.1

2.4.2

2.5
2.5.1

N=H= 155.769

cc=N/A= 40.302 (N/mn?)

ogc:
fc :
A 120
A 120
A =1k

(kN)

fc = 41.524 (N/mm*)

= 41.524 (N/mm?)
293 x (1-0.4 (N /120)%) /(1.5 +2/3 x (A / 120)*)
81.3 / (A /120)*

fc

fc
/iy

[-200x90x8x13.5

167.910

A : = 38.650 (cm?)
Ik : = 4.500 (m)
iy : 2 = 2.680 (cm)
T = 155.769 (kN)
1=T7 (0.7p s) = 74.176 (cm)
p : = 100.000 (N/mm?)
S = 0.300 (cm)
1
H= 77.884 (kN)
T=H/cos® = 146.952 (kN)
cosb =1 /v (1P +h) = 0.530
l: = 2.500 (m)
h : = 4.000 (m)
occ=T/ A= 77.343 (N/mm*) fc = 48.626 (N/mm?)
fc : = 48.626 (N/mm%)
A 120 fc=293x (1-0.4Q /120)% /(1.5+2/3 x (A / 120)%)
A 120 fc=81.3/7 (A /120)°
A =0k /iy = 155.164
L-100x100x10
A = 19.000 (cm?)
Ik : = 4.717 (m)
iy : 2 = 3.040 (cm)

FORUMS8
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2.5.1

2.6
2.6.1

2.6.2

146.952 (kN)

293 x (1-0.4(\ /12002 /(1.5 +2/3 x (A / 120)%)

169.336

19.000 (cm?)
5.148 (m)
3.040 (cm)

=T/ (0.7p s) = 20.993 (cm)
p : = 100.000 (N/mm?)
S : = 1.000 (cm)
1 1/2
H=38.942 (kN)
T=H/cos® = 80.187 (kN)
cos® =127V (117 + 12 = 0.486
11 : = 4.500 (m)
12 : = 2.500 (m)
cc=T/ A= 42.204 (N/mm*) fc = 40.828 (N/mm?)
fc : = 40.828 (N/mm?)
A 120 fc =
A 120 fc = 81.3 7/ (A /120)?
A =dk/ 1y
L-100x100x10
A :
Ik :
iy : 2
= 80.187 (kN)
=T/ (0.7p s) = 11.455 (cm)
p : = 100.000 (N/mm?)
S : = 1.000 (cm)

FORUMS8
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2.9

2.9.1

D

2)

« D
2 (1000x 2000)
Md = 1.000 (kN.m)
Mmax =  128.625 (kN.m)

M = 51.650 (kN.m)
o = 165.545 240.000 (N/mm?)
« D
2 (1000x 2000)
Sd = 2.000 (kN)
Smax =  257.250 (kN)
S = 103.300 (kN)

1 127.531 135.000 (N/mm?)

FORUMS8
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2.9.1

D

2)

3)

4)

275.625 x 0.200

13.476(kN.m)
275.625(KN.m)
55.125(kN.m)

245.000 x 0.200

344..226(kN.m)

11.979(kN)
245.000(kN)
49.000(kN)

H-350x350x12x19

Aw = 37.440 cm
Z = 2280.000 cm
o= M/7Z =1
fb = 195.0

T = S/ Av =
fs = 110.
= 0.8765 (cm)
da= 1.500

2

3

50.976 (N/mm?)
00 (N/mm*)
81.725 (N/mm?)
000 (N/mm?)

0 (cm)

305.979(kN)

FORUMS8
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2.9.2

D

2)

3)

4)

307.425 x 0.200

29.
.425(KkN.m)
.485(KN.m)

307
61

559(kN.m)

298.975 x 0.200

398

26.
298.
59.

L470(kN.m)

275(kN)
975(kN)
795(kN)

H-350x350x12x19
Aw = 37.440 cm
z 2280.000 cm

M/ZzZ =1
fb = 195.0
S/ Av =1
fs = 110.

Q
1

—
1

0.9776 (cm)
da-= 1.500

2

3

74.767 (N/mm?)
00 (N/mm*)
02.843 (N/mm?)
000 (N/mm?)

0 (cm)

385.

045(KN)

FORUMS8
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2.9.3
i)
2) 1
3)
= 56.210 (kN)
= 548.571 (kN)
= 167.451 (kN)
548.571 x 0.200 = 109.714 (kN)
881.947 x 1/1 = 881.947 (kN)
4)
= 24.112 (kN)
= 109.714 (kN)
109.714 x 0.200 = 21.943 (kN)
155.769 (kN)
5)
1 = 25.961 (kN)
= 124.615 (kN.m)
6)
H-300x300x10x15
A = 118.400 cm?
Z = 1350.000 cm®
2 ly = 7.550 cm
2 1 = 8.230 cm
H = 30.000 cm
Af = 45.000 cm?
Aw = 27.000 cm?
o c/fc + o b/fb = 0.945 1.000
7

Nmax =  881.947

1636.124 (kN)

FORUMS8
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2.10

2.10.1

2 (1000x 2000)

Mmax 128.625 (kN.m)
o 165.545 240.000 (N/mm?)
Smax 257.250 (kN)

127.531 135.000 (N/mm?)

FORUMS8
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2.10.1

H-350x350x12x19

Mmax 344.226 (kN.m)

o 150.976 195.000 (N/mm?)
Smax 305.979 (kN)

T 81.725 110.000 (N/mm?)
0 0.876 1.500 (cm)

H-350x350x12x19

Mmax 398.470 (kN.m)

o 174.767 195.000 (N/mm?)
Smax 385.045 (kN)

T 102.843 110.000 (N/mm?)
) 0.978 1.500 (cm)

H-300x300x10x15

)
)
N = 881.947 (kN) M = 124.615 (kN.m)
S=  25.961 (kN)
ogc = 74.489 ob= 92.307 (N/mm?)
T = 9.615 T a= 138.564 (N/mm*)
oc/fc+ob/fh = 0.945 1.000
Bb( 1.500)x Lb( 1.500)x  hb( 0.70)(m)
0.156 0.250 (m)
23.28 1.20
661.922 400.000 (kN/m*)
881.947 1636.124 (kN)
[-200x90x8x13.5
oc 40.302 41.524 (N/mm?) (N= 155.769kN)
74.176 (cm)
L-100x100x10
oc 77.343 48.626 (N/mm?) (T= 146.952kN)
20.993 (cm)
L-100x100x10
oc 42.204 40.828 (N/mm*) (T=  80.187kN)
11.455 (cm)

FORUMS8
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3.1

aAM
=275

Sl

1~2 |2~3 3~4 4~5
HHES BEAARERRERE
M @ @ @ )
1743
= 1.75 (m)
¢ ) kN (m
1 30.000 3.250
2 65.000 7.800
3 60.000 1.550
4 60.000
T25
= 1.75 (m)
¢ ) kN (m
1 25.000 4.000
2 100.000
T20
= 1.75 (m)
¢ ) kN (m
1 20.000 4.000
2 80.000
T14
= 1.75 (m)
¢ ) kN (m
1 14.000 4.000
2 56.000
3
= 1.08 (m)
¢ ) kN (m
1 20.000 4.200
2 54.000

FORUMS8
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3.2

5
= 1.88 (m)
( ) K (m
1 25.000 3.160
2 55.000 1.880
3 30.000
= 1.90 (m)
( ) K (m
1 34.000 4.000
2 63.000
+ +
EthE A =
ffﬂﬂmm 2 B
D408S
= 480.000(kN) = 0.800
= 50.000(kN) = 0.600
A = 4.470(m) = 0.700
B = 4.000(m) = 0.900
C = 0.800(m)
P&H440S
= 400.000(kN) = 0.800
= 50.000(kN) = 0.600
A = 4.380(m) = 0.700
B = 3.960(m) = 0.900
C = 0.760(m)
P&H335AS
= 350.000(kN) = 0.800
= 30.000(kN) = 0.600
A = 4.280(m) = 0.700
B = 3.790(m) = 0.900
C = 0.590(m)
P&H325
= 280.000(kN) = 0.800
= 30.000(kN) = 0.600
A = 3.950(m) = 0.700
B = 3.030(m) = 0.900
c = 0.590(m)

FORUMS8
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3.3

1
Eﬁmg(ﬁ

4~

~2
@

2~3 3~4 5~6

(3) (4) (8) (8

Y(W+T>—EEL
Erwﬁj‘—
féiFE (EFTA M)

mt

8 77 [ B ¥l

NK 300
= 2.10 (m)
¢ ) kN (m)
1 32.000 3.850
1 2 64.000 1.350
3 64.000
W = 320.000(kN) )= 4.750(n)
T = 30.000(kN) )= 5.600(n)
a=  0.700 = 0.500(m)
B=  0.150
y =  0.150
NK 200
= 1.90 (m)
C ) Kk (m
1 20.000 3.980
2 2 40.000 1.240
3 40.000
W = 200.000(kN) )= 4.450(m)
T = 30.000(kN) )= 4.800(n)
a=  0.700 = 0.400(m)
B= 0.150
y =  0.150
20t
= 2.10 (m)
C ) KN (m
3 1 20.000 3.000
2 80.000
W = 200.000(kN) )= 5.700(m)
T = 30.000(kN) )= 5.700(m)
a=  0.700 = 0.400(m)
B= 0.150
y =  0.150

FORUMS8
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4.1

25t
= 2.10 (m)
C ) K (m)
25.000 3.500
100.000
W = 250.000(kN) )= 6.300(m)
T = 30.000(kN) Y= 6.200(m)
a= 0.700 = 0.400(m)
B=  0.150
y= 0.150
40t
= 2.10 (m)
C ) KN (m
35.000 4.250
140.000
W = 350.000(kN) )= 7.300(m)
T = 30.000(kN) Y= 6.500(m)
o= 0.700 = 0.500(m)
B= 0.150
y= 0.150
H-300x300x10x15
= 912.0 (N/m) Af = 45.00(cm?)
Aw = 27.00(cm’) Z = 1350.0 (cm’)
I = 20200.0 (cm%) i = 8.23(cm)
( ) h = 30.0 (cm) b = 30.0 (cm)
tl = 1.00(cm) 12 = 1.50(cm)
H-350x350x12x19
= 1324.0 (N/m) Af = 66.50(cm?)
Aw = 37.44(cm%) Z = 2280.0 (cm’)
I = 39800.0 (cm’) i = 9.65(cm)
( ) h = 35.0 (cm) b = 35.0 (cm)
tl = 1.20(cm) t2 = 1.90(cm)
H-400x400x13x21
= 1687.0 (N/m) Af = 84.00(cm?)
Av = 46.54(cm’) Z = 3330.0 (cm)
I = 66600.0 (cm) i = 11.00(cm)
( ) h = 40.0 (cm) b = 40.0 (cm)
tl = 1.30(cm) 2 = 2.10(cm)
H-594x302x14x23
= 1667.0 (N/m) Af = 69.46(cm’)
Aw = 76.72(cm?) Z = 4500.0 (cm®)
I = 134000.0 (cm?) i = 7.96(cm)
( ) h = 59.4 (cm) b = 30.2 (cm)
tl = 1.40(cm) 12 = 2.30(cm)

FORUMS8
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4.2

H-900x300x16x28

= 2354.0 (N/m) Af = 84.00(cm?)
Aw = 135.04(cm?) Z = 8990.0 (cm®)
I = 404000.0 (cm‘) i = 7.68(cm)
( ) h = 90.0 (cm) b = 30.0 (cm)
tl = 1.60(cm) 12 = 2.80(cm)
H-912x302x18x34
= 2775.0 (N/m) Af = 102.68(cm?)
Aw = 151.92(cm?) Z = 10800.0 (cm’)
I = 491000.0 (cm) i = 7.84(cm)
( ) h = 91.2 (cm) b = 30.2 (cm)
tl = 1.80(cm) 2 = 3.40(cm)
H-250x250x9x14
= 718.0 (N/m) Af = 35.00(cm?)
Aw = 19.98(cm*) Z = 860.0 (cm)
I = 10700.0 (cm%) i = 6.91(cm)
( ) h = 25.0 (cm) b = 25.0 (cm)
tl = 0.90(cm) 2 = 1.40(cm)
H-300x300x10x15
= 912.0 (N/m) AF = 45.00(cm?)
Aw = 27.00(cm?) Z = 1350.0 (cm’)
I = 20200.0 (cm?) i = 8.23(cm)
( ) h = 30.0 (cm) b = 30.0 (cm)
tl = 1.00(cm) 12 = 1.50(cm)
H-350x350x12x19
= 1324.0 (N/m) Af = 66.50(cm?)
Aw = 37.44(cm*) Z = 2280.0 (cm’)
I = 39800.0 (cm%) i = 9.65(cm)
( ) h = 35.0 (cm) b = 35.0 (cm)
tl = 1.20(cm) 12 = 1.90(cm)
H-400x400x13x21
= 1687.0 (N/m) AF = 84.00(cm?)
Aw = 46.54(cm?) Z = 3330.0 (cm’)
I = 66600.0 (cm?) i = 11.00(cm)
( ) h = 40.0 (cm) b = 40.0 (cm)
tl = 1.30(cm) t2 = 2.10(cm)
H-594x302x14x23
= 1667.0 (N/m) Af = 69.46(cm?)
Aw = 76.72(cm®) Z = 4500.0 (cm®)
I = 134000.0 (cm) i = 7.96(cm)
( ) h = 59.4 (cm) b = 30.2 (cm)
tl = 1.40(cm) 2 = 2.30(cm)
H-900x300x16x28
= 2354.0 (N/m) AF = 84.00(cm?)
Aw = 135.04(cm?) Z = 8990.0 (cm®)
I = 404000.0 (cm‘) i = 7.68(cm)
( ) h = 90.0 (cm) b = 30.0 (cm)
tl = 1.60(cm) 12 = 2.80(cm)

FORUMS8
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4.3

4.4

H-912x302x18x34

= 2775.0 (N/m) Af = 102.68(cm?)
Aw = 151.92(cm?) Z = 10800.0 (cm®)
I = 491000.0 (cm‘) i = 7.84(cm)
( ) h = 91.2 (cm) b = 30.2 (cm)
tl = 1.80(cm) 12 = 3.40(cm)
[-250x90x9x13
= 339.0 (N/m) A = 44.07(cm?)
Aw = 20.16(cm%) Z = 335.0 (cm)
I = 4180.0 (cmY) iy = 2.58(cm)
h = 25.0 (cm) b = 9.0 (cm)
tl = 0.90(cm) 2 = 1.30(cm)
[-300x90x9x13
= 374.0 (N/m) A = 48.57(cm?)
Aw = 24.66(cm*) Z = 429.0 (cm)
I = 6440.0 (cm%) iy = 2.52(cm)
h = 30.0 (cm) b = 9.0 (cm)
tl = 0.90(cm) 2 = 1.30(cm)
[-300x90x10x15.5
= 430.0 (N/m) A = 55.74(cm?)
Aw = 26.90(cm?) Z = 494.0 (cm’)
I = 7410.0 (cm?) iy = 2.54(cm)
h = 30.0 (cm) b = 9.0 (cm)
tl = 1.00(cm) 12 = 1.55(cm)
[-380x100x10.5x16
= 534.0 (N/m) A = 69.39(cm?)
Aw = 36.54(cm*) Z = 763.0 (cm’)
I = 14500.0 (cm%) iy = 2.78(cm)
h = 38.0 (cm) b = 10.0 (cm)
tl = 1.05(cm) 12 = 1.60(cm)
[-380x100x13x20
= 660.0 (N/m) A = 85.71(cm?)
Aw = 44.20(cm?) Z = 926.0 (cm’)
I = 17600.0 (cm?) iy = 2.76(cm)
h = 38.0 (cm) b = 10.0 (cm)
tl = 1.30(cm) t2 = 2.00(cm)
L-65x65x6
= 58.0 (N/m) A = 7.527(cm?)
iy = 1.98 (cm)
B = 6.5 (cm) t = 0.60 (cm)
L-75x75x6
= 67.2 (N/m) A = 8.727(cm?)
iy = 2.30 (cm)
B = 7.5 (cm) t = 0.60 (cm)
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4.5

L-75x75x9
= 97.7 (N/m) A = 12.690(cm%)
iy = 2.25 (cm)
B = 7.5 (cm) t = 0.90 (cm)
L-90x90x10
= 130.4 (N/m) A = 17.000(cm?)
iy = 2.71 (cm)
B = 9.0 (cm) t = 1.00 (cm)
L-100x100x10
= 146.1 (N/m) A = 19.000(cm?*)
iy = 3.04 (cm)
B = 10.0 (cm) t = 1.00 (cm)
H-300x300x10x15
= 912.0 (N/m) A = 118.40(cm?)
Af = 45.00(cm*) Aw = 27.00(cm*)
= iy = 13.10(cm)
iz = 7.55 (cm) i = 8.23(cm)
h = 30.0 (cm) b = 30.0 (cm)
tl = 1.00 (cm? 12 = 1.50(cm)
Z = 450.0 (cm’) 1 = 6750.0 (cm%)
= 900.0 (cm?) = 120.0 (cm)
= 30.0 (cm) = 912.0 (N/m)
H-300x300x10x15
= 912.0 (N/m) A = 118.40(cm?)
Af = 45.00(cm*) Aw = 27.00(cm%)
= iy = 13.10(cm)
iz = 7.55 (cm) i = 8.23(cm)
h = 30.0 (cm) b = 30.0 (cm)
tl = 1.00 (cm) 12 = 1.50(cm)
Z = 1350.0 (cm’) I = 20200.0 (cm‘)
= 900.0 (cm?) = 120.0 (cm)
= 30.0 (cm) = 912.0 (N/m)
H-350x350x12x19
= 1324.0 (N/m) A = 171.90(cm?)
Af = 66.50(cm*) Aw = 37.44(cm*)
= iy = 15.20(cm)
iz = 8.89 (cm) i = 9.65(cm)
h = 35.0 (cm) b = 35.0 (cm)
tl = 1.20 (cm) 2 = 1.90(cm)
Z = 776.0 (cm’) I = 13600.0 (cm%)
= 1225.0 (cm’) = 140.0 (cm)
= 35.0 (cm) = 1323.9 (N/m)
H-350x350x12x19
= 1324.0 (N/m) A = 171.90(cm*)
Af = 66.50(cm*) Aw = 37.44(cm%)
= iy = 15.20(cm)
iz = 8.89 (cm) i = 9.65(cm)
h = 35.0 (cm) b = 35.0 (cm)
tl = 1.20 (cm) 12 = 1.90(cm)
Z = 2280.0 (cm) I = 39800.0 (cm?)
= 1225.0 (cm?) = 140.0 (cm)

35.0 (cm)

1323.9 (N/m)
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4.6

4.7

4.8

[-150x75x6.5x10
= 182.0 (N/m) A = 23.71(cm?)
iy = 2.27(cm)
h = 15.0 (cm) b = 7.5 (cm)
1 = 0.65(cm) 2 = 1.00(cm)
[-200x90x8x13.5
= 297.0 (N/m) A = 38.65(cm?)
iy = 2.68(cm)
h = 20.0 (cm) b = 9.0 (cm)
tl = 0.80(cm) 12 = 1.35(cm)
[-250x90x9x13
= 339.0 (N/m) A = 44.07(cm?)
iy = 2.64(cm)
h = 25.0 (cm) b = 9.0 (cm)
tl = 0.90(cm) 12 = 1.30(cm)
L-65x65x6
= 58.00(N/m) A = 7.527(cm?)
iy = 1.98(cm) iv = 1.27 (cm)
B = 6.5 (cm) t = 0.60 (cm)
L-75x75x6
= 67.20(N/m) A = 8.727(cm?)
iy = 2.30(cm) iv = 1.48 (cm)
= 7.5 (cm) t = 0.60 (cm)
L-75x75x9
= 97.70(N/m) = 12.690(cm?)
iy = 2.25(cm) iv = 1.45 (cm)
= 7.5 (cm) t = 0.90 (cm)
L-90x90x10
= 130.40(N/m) A = 17.000(cm?)
iy = 2.71(cm) iv = 1.74 (cm)
B = 9.0 (cm) t = 1.00 (cm)
L-100x100x10
= 146.10(N/m) = 19.000(cm?)
iy = 3.04(cm) iv = 1.95 (cm)
B = 10.0 (cm) t = 1.00 (cm)
L-65x65%6
= 58.00(N/m) A = 7.527(cm?)
iy = 1.98(cm) iv = 1.27 (cm)
B = 6.5 (cm) t = 0.60 (cm)
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L-75x75x6
= 67.20(N/m) = 8.727(cm?)
iy = 2.30(cm) iv = 1.48 (cm)
B = 7.5 (cm) t = 0.60 (cm)
L-75x75x9
= 97.70(N/m) A = 12.690(cm?)
iy = 2.25(cm) iv = 1.45 (cm)
B = 7.5 (cm) t = 0.90 (cm)
L-90x90x10
= 130.40(N/m) = 17.000(cm?)
iy = 2.71(cm) iv = 1.74 (cm)
B = 9.0 (cm) t = 1.00 (cm)
L-100x100x10
= 146.10(N/m) = 19.000(cm?)
iy = 3.04(cm) iv = 1.95 (cm)
B = 10.0 (cm) t = 1.00 (cm)

4.9
[-200x90x8x13.5
= 297.0 (N/m) A = 38.65 (cm?)
iy = 2.68 (cm)
h = 20.0 (cm) b = 9.0 (cm)
tl = 0.80 (cm) 12 = 1.35 (cm)
[-250x90x9x13
= 339.0 (N/m) A = 44.07 (cm?)
iy = 2.58 (cm)
h = 25.0 (cm) b = 9.0 (cm)
t1 = 0.90 (cm) 12 = 1.30 (cm)
[-300x90x9x13
= 374.0 (N/m) A = 48.57 (cm?)
iy = 2.52 (cm)
h = 30.0 (cm) b = 9.0 (cm)
tl = 0.90 (cm) 2 = 1.30 (cm)
[-300x90x10x15.5
= 430.0 (N/m) A = 55.74 (cm®)
iy = 2.54 (cm)
h = 30.0 (cm) b = 9.0 (cm)
t1 = 1.00 (cm) 12 = 1.55 (cm)
4.10
L-65x65x6
= 58.0 (N/m) A = 7.527(cm?)
iy = 1.98 (cm)
B = 6.5 (cm) t = 0.60 (cm)
L-75x75x6
= 67.2 (N/m) A = 8.727(cm?)
iy = 2.30 (cm)
B = 7.5 (cm) t = 0.60 (cm)
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L-75x75x9
3 = 97.7 (N/m) A = 12.690(cm%)
iy = 2.25 (cm)
B = 7.5 (cm) t = 0.90 (cm)
L-90x90x10
4 = 130.4 (N/m) A = 17.000(cm?)
iy = 2.71 (cm)
B = 9.0 (cm) t = 1.00 (cm)
L-100x100x10
5 = 146.1 (N/m) A = 19.000(cm?*)
iy = 3.04 (cm)
B = 10.0 (cm) t = 1.00 (cm)
4.11
No w h W A 1 YA
(mm/ ) | (mm) (kg/m?) (cm’/m) (cm'/m) (cm’/m)
11 400 100 48.0 153.00 8740 874
21 400 125 60.0 191.00 16800 1340
31 400 130 60.0 191.00 17400 1340
411V 400 170 76.1 242.50 38600 2270
5| VL 500 200 105.0 267.60 63000 3150
6| Hw 600 130 61.8 131.20 13000 1000
7w 600 180 81.6 173.20 32400 1800
8| Ivw 600 210 106.0 225.50 56700 2700
4.12
No H B tw tf A w Ix ZX
(mm) | (m) | (mm) | (m) | (em?) | (kg/m) | (em?) | (em)
1|H 100x 100x 6x 8 100 | 100 6.0 8| 21.59 16.9 378 76
2 |H 125x 125x 6% 9 125 | 125 6.5 9| 30.00 23.6 839 134
3 |H 150x 150x 7x 10 150 | 150 7.0 10 | 39.65 31.1 1620 216
4 |H 175x 175x 7x 11 175 | 175 7.5 11| 51.42 40.4 2900 331
5| H 200x 200x 8x 12 200 | 200 8.0 12 | 63.53 49.9 4720 472
6 | H 250x 250x 9x 14 250 | 250 9.0 14| 91.43 71.8 | 10700 860
7 | H 300x 300x 10x 15 300 | 300 10.0 15 | 118.40 93.0 | 20200 1350
8 | H 350x 350x 12x 19 350 | 350 12.0 19 | 171.90 | 135.0 | 39800 2280
9 | H 400x 400x 13x 21 400 | 400 13.0 21 |218.70 | 172.0 | 66600 3330
10 | H 400x 400x 18x 28 414 | 405 18.0 28 | 295.40 | 232.0 | 92800 4480
11 | H 400x 400x 20x 35 428 | 407 20.0 35 |360.70 | 283.0 | 119000 5570
12 | H 400x 400x 30x 50 458 | 417 30.0 50 | 528.60 | 415.0 | 187000 8170
13 | H 400x 400x 45x 70 498 | 432 45.0 70 | 770.10 | 605.0 | 298000 | 12000
4.13
No w h W A | yA
(mm/ ) | (mm) (kg/m?) | (cm*/m) | (cm/m) | (cm’/m)
1 A 250 36 14.8 75.40 107 60
2 B 333 51 17.9 68.28 510 144
3 o 333 85 19.3 73.80 2000 272
4 D 333 74 21.6 82.53 636 171
5 E 500 160 33.6 85.70 3620 452
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